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1 The correct location of the following districts
from south to north direction is -
(A) Banswara, Udaipur, Pratapgarh and

Bundi

(B) Udaipur, Banswara, Pratapgarh and
Bundi

(C) Banswara, Pratapgarh, Bundi and
Udaipur

(D) Banswara, Pratapgarh, Udaipur and
Bundi

Pr=iftea Rre @) 2T & ITR @t ol wét Rafa

¥
(A) TG, ST, TG I A
(B) S5ggY, qrGaTST, TATTE T gL
(C) argareT, ¥aqTe, §& 9 IGYR
(®) SEETET, FATwTE, 339X g 3l

2  Which one of the following plateaus is
located at the North-Eastern end of the
Aravali Hills ?

(A) Potwar (B) Bhorat
(C) Lasadiya (D) Uparmal
FUEH % ST-4 BT W Frifead & § S @1

TR Rag & 7
(A) FaR (B) v
(C) waifsan (D) HqTTe

3 Which one of the following rivers is a part
of Arabian sea drainage system ?
(A) Sabi (B) Kuntal
(C) Mej (D) Majam
frifiea & @ @I @ T 3T WP % H9ATE
o YOGt 7 WA § P
(A) T (B) G
(C) 7w (D) |sm

4 Which one of the following districts
experiences highest 'Dust storms' in the
month of May and June ?

(A) Jodhpur (B) Sri Ganganagar
(C) Jaisalmer (D) Bikaner

Praifea & § &9 9 fad & w8 9 5 & wRA
¥ gaiftys ‘qo Wit sAifeal addr & 7

(A) sfegR (B) AT

(C) FaeT (D) di&mit

5 Red lomy soil is rich in

‘/

6

ol

6 According to I.C.A:R-, K ST
geographical area of Rajasthan is facing the
problems of land degradation. :,,

LC.AR % S, ToRa™ & Wi dby

BT & it g9 @ TR B

LS | |
(A) 43.2% (B) 57.1% |
(C) 49.5% (D) 62.5% .i

7 What fine salt is accumulated by the South-
West winds on the eastern edge of the bed
of the Sambhar Lake area ?

(A) Pan Salt (B) Rista Salt |
(C) Sendha Salt (D) Kyar Salt ,
give ST a o T & T % gl R |

g gff-afdad qaqi 2 UEhd Al THE
& A T e 7 |
(A) TH TH (B) =1 % 1
(C) T WS (D) &R %

8 The highest peak of Udaipur-Rajsamand

Aravali hills is -
(A) Achalgarh (B) Jarga
(C) Delwara (D) Guru Shikhar

TEAY-TEA< ¥ TUaell Yl @ gared
e -

(&) TS
(C) Seramst

9 Which one of the following districts does
not touch two States of India ?

(B) sram
(D) 75 fara¥

(A) Dholpur (B) Bharatpur

(C) Dungarpur (D) Hanumangarh
=t % /@ | faen W & Qe @t W
T @R ?

(A) ghergt (B) w&ayq¥

(€) TP (D) &gATTE

10 Which land-locked district is surrounded by
seven districts of Rajasthan ?

(A) Iron oxide (B) Calcium
(C) Potash (D) Nitrogen
I 1 TG ¥ |
(4) e ofFas  (B) ditsraw
(C) drerer (D) g
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(A) Nagaur (B) Jodhpur
(C) Dausa (D) Bundi |
A W S R e & e R 3
(A) TR (B) gy
(C) B D) @

pTO. )



11 Central sheep and wool research institute is
situated in which district of Rajasthan ?

(A) Jaisalmer (B) Tonk

(C) Bikaner (D) Jaipur

FHAT g g S AGEUN UM T &
P g Raa & 7 ,

(A) Srgeat (B) A

(C) drmiT (D) sagT

12 Whish of the following dam is situated in
Bhilwara district ?

(A) Meja (B) Madhosagar

(C) Talabshabhi. (D) Jakham

ferarer R ¥ Prefafad & @ & &1 atg Rem
27

(A) AT (B) ATHIETTT

(C) aremasTel (D) Sr@H

13 Which sources of irrigation accounts for
maximum irrigation in Rajasthan ?
(A) Tubewell and canals
(B) Well and canals
(C) Canals and Tanks
(D) Well and Tubewell
o™ ¥ &9 ¥ f9aE & arEr g aa‘iﬁm

fiarg e ¥ °
(A)T@ga 9 &  (B) g¢ q Y
(C) 7e¥ ¥ aE (D) %€ 9 g

14 Which of the following mineral is available
in the Nagaur district in significant amount?
(A) Gypsum (B) Barylium
(C) Copper (D) Silver
frafoiaa af+ei o & @9 &1 i e 9 m&iaa
uEl § Iuded & 7
(A) foram (B) aftferam
(C) dfa (D) =

1S Who established 'Veer Bharat Sabha' in
1910?
(A) Vijay Singh Pathik
(B) Rao Gopal Singh
(C) Arjunlal Sethi
(D) Kesari Singh
1910 ¥ ‘drx weg gwr &1 wWeen fees @ 7
(A) favraftie qftres (B) 1@ Murafe
(C) srfeme &4 (D) Hatifte

16 When was unification of Rajasthan got
completed ?
TR T THIdTT &9 o gamm ?
(A) 1947 (B) 1952
(6) 1956 (D) 1957
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17 Which organisation of Japan provides
funding to Rajasthan forestry development
and biodiversity project phase-II ?

T G ety we Srafafaean aRars
Fa-11 & T H B & e g gead
T & & 7

(A) JICA (B) FCRA

(C) OECD (D) OECF

18 Desert tree plantation and soil conservation
center is located at

(A) Bikaner ~ (B) Barmer
(C) Jodhpur (D) Nagaur
eI NUTiue T ga wee = Rea -
(&) FreHTAT ° (B) ars8X ¥
(C) siragy o (D) AR ¥
19 Naal airport is situated in which district of
Rajasthan ?
(A) Udaipur (B) Bikaner
(C) Ganganagar (D) Jodhpur

AT BGTS OTET U™ & fod foaet o Rem & 7
(A) ITagR (B) ST
(C) T (D) ShEgx

20 Indian Railways Research and Training
Centre is situated in which one of the
following places ?

(A) Niwai (B) Tonk

(C) Pachpadra (D) Suratgarh

A (e a9 winew s Frafaiad
WA Ay fra d Rem 2

(A) g (B) i®

(C) werasn (D) &

21 Which of the following code can be used
for the climate of western Bikaner ?

Frafefea & & & @ &g e deE @

wwarg & fag &m A foan o @ ¥ 2

(4) Bwh (B) Bsh
(C) Aw (D) Caw

22 'Pagra' is a breed of :
(A) Cow (B) Sheep
(C) Goat (D) Buffalo
T B TH T & |
(A) T (B) %®
(€) Tml (D) ¥

PTO. P

4= Z AN

T

.




23 Who was appointed the Prime Minister of

24

26

—

the Matsya Sangh ?

(A) Shobha Ram Kumawat

(B) Ladu Ram Joshi

(C) Giriraj Prasad Tiwari

(D) Gokul Lal Asawa

"o WY &1 g fee Frgaa e an ¢
(A) IR FHTEd

(B) s s

(C) fifitst ware fyarsh

(D) e W Srarar

Which of the following pair is not correctly
matched ?

(A) Battle of Khanwa - 1527 A.D.
(B) Battle of Giri Sumel - 1544 AD.
(C) Battle of Diver - 1682 A.D.

(D) Battle of Haldighati - 1576 A.D.
frrefeied & 4 &9 @ g o gk aEi ¥
(A) @ e &1 g5 — 1527 $=
(B) MR g« &1 g= — 1544 &
(@) et &1 g= — 1682

(D) &<l &1 g8 — 1576 $=h

The largest tribal fair - "Beneshwar Fair" is
organised on which date ?

(A) Purnima of Chaitra month

(B) Purnima of Ashwani month

(C) Purnima of Bhadrapad month

(D) Purnima of Magha month
anfeantaal &1 g9 91 Hal (AN BT Al
&9 AifTg BT & 7

(A) A =19 @1 g

(B) anfyas =@ @ g

(C) Wizug 9| &l g

(D) 5T W @I g

The oldest temple of Bhumij style in
Rajasthan is -

(A) Mahanaleshwar temple of Menal
(B) Bhand Devra temple of Baran
(C) Undeshwar temple of Bijolia
(D) Jain temple of Sevadi

oY § it et &1 gEd gOe HiEw ¥ -
(&) A 1 O HiT
(B) A &l Wi$ 90 AT
(C) faitferar @1 Se9aT HiGT

27 Where is the famous mahals of Deeg

located?
(A) Dausa (B) Bharatpur
(C) Karauli (D) Alwar

g & wieg wew Hel srakyd ¥ ?
(A) A (B) wTaqe
(C) @it (D) st

28Between whom was the Battle of Devrai

—fought ?

OC(A) Babar and Sanga

(¥(B) Shershah and Humayun

{C) Aurangzeb and Dara

{D) Akbar and Hemu

N @ gE fas W @t T At ?

M) Tt s wim () dreeme s g
(C) 3iriig 3R 3 (D) et &t 2

29 Who was the founder of Nimbarkacharya
rPeeth at Salemabad ?

C¢A) Narayana Dev  (B) Harivans Dev
("{C) Harivyas Dev (D) Parshuram Dev
eHerEe # Fraread 91 @) @ e @ ?

CLA) T 39 (B) @y ga
‘E:‘RC) Thamw @ (D) Ty <4

39 'Veli Kisan Rukmani Ri' is written by -
(A) Sadashiv Bhatt

_(B) Karnidan

“{C) Prithviraj Rathore

(D) Nayanchandra Suri

it fre wemh & % daw ¥ -

' (A) wafiE e (B) &Toie™

:tC) JEw W (D) TaEs gl

S%'jn which year Rajputana Agency Wwas
established ?

(A) 1832 AD. (B) 1835 A.D.
(C) 1838 A.D. (D) 1830 AD. ,
CCOTgeT T et e af ¥ g
{4) 1832 &= (B) 1835 &
(D) 1830 &

OYC) 1838 &&=
o

32-In how many slage}? Si?ro'hi St
. i jasthan * &
Cintegrated 1n§T Rajas o i
?
“(:3’3 2 (8) 3
(C) 4 (D) 1

ate was

(D) Far) &1 I =T

a1

pTO. P

|
\



33 The Shankar Dev ~Commfftee's
recomrpendations are related to whicﬂ"g"lase
of the integration of Rajasthan ? C

(A) 4th (B) 6th
(C) 3rd (D) 5th =
‘st 3 iy @ RiwTREY T & O
%P @ 9o § gafa ¥ 7 £
(A) de (B) a1 P
(C) dgu (D) gferan
34 Which one of the following option(s )does
not match ? A
(Ruler) (Reign)
(A) Sawai Pratap Singh 1778-18(}5)
(B) Sawai Jagat Singh 1803-1818’
(C) Man Singh 1589-1621"
(D) Mirza Raja Jai Singh 1621-1667
frefifad Rreedl & @ @ @ T 7
(sTF) (o) -
(A) GaTE JaTariE 1778-1803
(B) §aT§ TiE 1803-1818

(C) wrRiE - 1589-1621 ¢y
(D) st T wafie  1621-1667 -

35 Who was the founder of Parmara dﬁf&;@)}y in
>

Abu ?

(A) Dharavarsha (B) Dhandhuk 1
(C) Dhumraj (D) Mahipal &
g ¥ T TS B JETD B “CP
(A) gTTEy (B) &Y% =
(C) gaust (P) e

36 Which statement about 'Rani Laxmi Kumari
Chundavat' is not correct ? O
(A) Writing in Hindi and Rajasthani

language. O
(B) She was awarded the Padam Shtj by
the Government of India in 1985}qu

(C) 'Rajasthan Ratna Award' was givep 1n

2013 A.D. v
(D) She was a member of Rajya !Sabha
during 1972-1978 A.D.
T wEfgaTd gUerad ¥ ary ¥ & a1 B
g Y7 i
(A) fe=dt ot T 3
(B) T q@BIE A 1984 %. ﬁrqqqahﬁwﬁﬁ

fepa |
(C) 2013 €. & T ' Wﬁmwﬁ:
(D) & 1972-1978 3. d® g g1 Bl T

ar |

76G1 @

37

38

39

40

In 1679 A.D. Aurangzeb re-imposed Jajia
(Tax) on non-muslims. At this time who was
the king of Mewar, who opposed
Aurangzeb?

(A) Rana Pratap-II

(B) Rana Rajsingh

(C) Rana Udaysingh

(D) Rana Amarsingh-I

afrtorg Zra 1679 $ei & dr-gfiest ar s
(7) RET § TN AT | 56 §9G HATS B D
2 g, fraa st & ot fean ?

(A) o gl

(B) Trom J

(C) Tom SeafdE T

(D) T FETfHE-9aH

Arrange the following four Chauhan rulers
in chronological order and find the correct
answer from the codes given below -

(H Vigrahara} - IV(2) Someshvara
(3) Prithviraj - I~ (4) Hariraj

e 91X 8T TEE! B BB % ATATT
e AT et A R T g ¥ & w
gaT g -

(1) fereas - IV (2) |Mgat

(3) geEr - 1 (4) s
Codes / 2 :

A)1,3,2,4 (33,2, 1,4
)3, 41,2 D)1, 234

Jogi Mahal is situated in which fort ?
(A) Kumbhalgarh fort

(B) Chittorgarh fort

(C) Jaigarh fort

(D) Ranthambor fort

Sy wew e R ¥ Rea ¥ 7
(A) TS G (B) ferheme g
(C) wame i (®) TorgeiT g

Who was sentenced to 6 months in jail for
participating in the Salt Satyagraha of 1930
AD.?

(A) Anjana Chaudhary

(B) Ramadevi Pandey

(C) Janki Devi Bajaj

(D) Ratan Shastri
1930 §. ﬁimm#mﬁ%%mﬁs&

6qﬁﬁi\ﬁa§’laﬁﬂ§§aﬁ ?
(A)atamiﬂuﬁ (B) Tl qred

(C) s ¥ T (B) T gt
PTO. p




41 Which is the symbol used for well gr_aded
gravel as per ISC system of classification ?

ISC affeter yomredt % argare ot ee & aiig
9w (Well Graded Gravel) % firg g&hna fenan
N A M em At ?

(A) W (B) WG

(C) G (B) GW

42 The most commonly used retarder in cement
is -
(A) Calcium chloride
(B) Calcium carbonate
(C) Sodium chloride
(D) Gypsum
T ¥ AR 9T waits s Rear st
gl 4% (retarder) ¥ —
(A) Hfvaam e
(B) *fvaaw sEz
(C) difsam s
(D) foeas

43 Which of the following tree is not
endogenous ?

(&) Bamboo (B) Cane

(C) Palm (D) Deodar
P & & &9 @1 g8 et 6§
(A) 3@ (B) &4

(C) ars (D) &gt

44 Quick lime on reaction with water gives -
(A) Calcium carbonate
(B) Calcium hydroxide
(C) None of these
(®) Calcium oxide
W%Wﬂmﬂﬁﬁwm((@lck
lime) Tt & -

(A) Hfewaq FEMHE
(B) Hfvean FEEHES
(C) T & & T

45 "Newton's Law of Viscocity" is 5 |

fc,ow%.%

relationship between - .
(&) Shear stress and Rate of shear strain

(B) Shear stress and Velocity

(C) Rate of shear strain and Velocity

(D) Pressure, velocity and Temperature
‘g w1 gl & e e % e A e
T & -

(A) w7 s o ad Rl &

(B) & wftaer ofrT am : v

(C) & Righr & =X o 3w )p)
o)

(D) 7|, a7 3T aEE %
46 Dimension of dynamic viscocity is -
Tia® A (dynamic viscocity) @1 fr
(dimension) & ¥ - -

(&) MLIr-1 (B) MLT2
(©) M1 D) MLT"

47 Continuity equation is based on the law of
conservation of -

(@) Mass (B) Momentum
(C) Pressure (D) Energy
Hicred e 4 % w3 P X st
¥
(A) FeH= (B) &am
(C) T (D) Tt
48 Discharge (Q) over a triangular notch or weir
is given by -
% Prser e a1 fat & s P (Q),
e g fean s -

(&) Cyy2gtan%]. B
(®) 5Cy 2 012

0/ 152
tan%/. H /

8
@ 7:Ca\28

(D) Sfvaaq HFTES

-~ A

p1O: P




49 To obtain parallel lines, concentric circles
and prallel curves;

& o iscused in

AutoCAD.
(A) Fillet (B) Copy
(C) Offset (P) Array
AutoCAD % gomiat e, ¥hia g9 o
FIFIET a9 W9 & & T &y
fepa wa ¥
(A) ufe@r (Fillet)  (B) wiafafr (Copy)
(C) 3w (Offset) (D) & (Array)

50 Which mode allows the user to draw 90°
straight lines in AutoCAD ?
(&) Ortho (B) Linear
(C) Polar Tracking (D) Osnap
AutoCAD ¥ & @1 #is sudrmaal & 90°
Al tErd @i A IR @y 2
(A) st (B) {few
(C) g i (D) &gy

R |

In brick masonary the bond produced by
laying alternate headers and stretchers in
each course is known as —

(A) Double Flemish Bond
(B) Zigzag Bond
(@) Single Flemish Bond
(D) English Bond
&2 T wde wEA () ¥ U % IR T

a7 i St feR % g0 fita €9 @1 &
¥ -

B

(A) TET wAier €9 AL %&‘f
(B) e qy

(C) et wiftrgr @4

(D) gitwer dy

52 Crushing strength of a good building stone
ShOUld be more than —

T e T % T @ dead g

¥ afus B =fET |
(&) 100 MPa (B) 150 MPa
(C) 200 MPa (D) 50 MPa

76G1
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33 Economical depth of a plate girder
corresponds to —

(A) Minimum depth
(B) Maximum weight

(@) Minimum thickness of web
(D) Minimum weight

Th W T @ ot e few ¥ A w@d
¥

(A) T e

(B) sttt o

(C) A§ o A Hrerd
(D) e e

54 Bearing stiffner in a plate girder is used to—
(A) decrease the effective depth of web
(B) prevent buckling of web
(C) prevent excessive deflection
(D) transfer the load from the top flange to

the bottom one
T O TET Y1 QG (FHI) & 3@
w4 fohan s ¥ 7
(A) AT @ THEN TETE B B B & 0l
(B) 3 & 737 | Ul & g
(C) srafren fadrqur &t Tad o 0T
(D) ¥R @ U0 A § Frae wa @ A
WFRRG & & oY

55 The percentage of minimum reinforcement
should be of the gross sectional area in slabs
is -

W ¥ Ge FTIG FF6A § AT GIHB T
&1 yfag g = -
(&) 0.0012
(C) 0.0018

(B) 0.0015
(D) 0.001

56 For M 150 mix concrete, according to I.S.
specifications local band stress is -
(A) 15 kg/em? (B) 10 kg/cm?
(C) 20 kg/cm? (D) 5 kg/em?
M 150 firar @ % fore 1S, Rrftrdan & orgam
dftra sy wfvew & -

(A) 15 R (B) 10 Remd?

(C) 20 fem&®2 (D) 5 Femyad?
fo & wF o)

S N

mww



57 In long ang short wall method of estimation
thQQngth 0

: flong wall js the centre to centre
dl%%hce between the walls and -

(A)two third breadth of wall

(Bgalf breadth of wall on each side

((%Sne fourth breadth of wal] on each side
(D) breadth of the wall

mﬁwmwmq@mwm
aﬁ%ﬁﬁaﬁ%ﬁaﬁaﬁhﬁ{&ﬁ—

(A%%WT( B A-frerd hrers

(Bga)aaﬁﬁwaarraﬁmﬁﬂ\mé

(Cngﬁmﬂﬁwé’mnﬁaws‘iﬂsﬁ
(D) Bt e

S8 WHAt is the tota] pressure on a plane surface

i“‘gﬁed at an angle O with the horizontal 9

W%meaﬁwm

g% §U W9 HefE v
fohe g ¥ 2
(AﬁA (B) PA tan@
f' 04‘0 A (G)PAsing (D) PA cos0
O
59 What is the approximate ratio between the
stregths of cement concrete at 7 days and
7 B o 288 % e e s
é (stegngths) & dg STTHG ST e e
© o
o ,
(A) 3 (B) >
/( . o 5 R
g (@) ?i— by (D) _5 ®
of
76G1 W

60

61

rr—

With reference to the network
below fig. which statement is in

AN

- @ O—@® |
vl
Ot |

showy, in
COI’rect 9

(A) Event 7 can occur after event 4
(B) Event 7 precedes event 6

(C) Event 5 follows event 3
(D) Events 3 and 4 occur after event 2 |
Wﬁaﬁ'ﬁaﬂmmﬁm&mﬁﬁm
|1 &9 Teq ¥ 7 |
(A)m?mzﬁsmaﬁaém%q |
(B)w?mﬁﬁ%ﬁa&aﬁ% : |
(C)awsms%mu&asﬁr% |
(D)m3aﬂ14m2%ma&a@ﬁﬁ%]

The dischar
orifice is -

(A) Cy ><b><(H2 —H)x\2gH

3/2 3/2
(B) Cdxbx(Hz/ hHl/ )x 2gH
(C) None of these

D) Cyxbx(Hy - H )x [og x HY2
Where,

H = Difference
of the orifice
H; = Height of lig
of upstream side

H, = Height of liquid above bottom edge of
orifice on upstream side.

'{&a;a@rmww&&m&swﬁﬁw
EBIT'H ;Y

(A) Cdxbx(Hz ~Hl)x,f2gH

B) C, xbx(H:_?,’/zﬁHl‘j’/z)xwﬂgH
C©) 8 q & 78 |

3/2
(D) Cyxbx(H, ~ Hy)x 2g x HY

kl;mﬁﬁﬁa%aﬁmsﬁ%mmﬁ'w'

H, wﬁmmﬁwaﬁﬁm%mw
® TR T B SaE |

H, = wfware wedf we onfife % frae Rt
% S 7 B FAr |

g¢ through fully submerged

of liquid levels on both sides

uid above top edge orifice

P.T.O. ’ |

|

62
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62 The Pressure%e& -
zero of pres - ¢ the absﬁlte

(8) Gauge preg

(B) AbsolutI:a prselégireﬁ S 6\‘@ S'?)

(C) Vaccum preggyre 30 =

(D) Atmospheric pressure 8
G e

o ERES arm{;mgp Q19 BETdT Y —

(B) Pt amg 690

(C) frata zm \ -

(D) argvssig T/ "03

00

63 No. of links in a Revenue Chain is -

T USTE =9 (revenue chain) & w2
Ak ain) ¥ &g ?ﬁ\g@!ﬂ

(A) 32 (B) 100 s’

(©) 150 ®)16 T
64 If the quadrantal bearing of a line is

N38°E, then the whole circle bearifi® of

the line is - ™

gfg fopedt 39 & gumIa A= (quadrantal

bearing) N'38C E &, af @rga @t IUi g4 ReHH

M -

(A) 489 B) 529

(C) 3290 (P) 389

65 Due to change in price level a rgmed
estimate is prepared if the sanctlggted
estimate exceeds - .

o2 T & et 5 o G e
(revised estimate) &aTt far e & af Efigpd
BT T /Y ST &~ O
(A) 3% (B) 5% [
(C) 10% (D) 2.5%

66 Unit i—lydrograph theory was given by -
(A) W. W. Horner  (B) L. K. Sherman
(C) Robert E. Horten (D) Merril Bernard
T FggrT; o faia e AT T T
(A)way, sy, ofT  (B) T &. A
©€) v £ o= (D) af@ aai‘é

76G1 9

67 According to Lacey's Silt theory perimeter

69

70

71

P of a channel is proportional to -
a6 % foee Rrara & E T A9 &1 IR
(perimeter) P RrgeT gaTgard & & 7

) Q8 @) Q72
©) Q%° (D) Q

A canal which is aligned at right angle to
the contour is called -

(A) Branch canal (B) Watershed canal
(C) Contour canal  (P) Side slope canal

ue &t it f gHe (contour) % FHBIUT T

wifaq Bl ¥, FEARN ¢ - %p\\‘w
(A) §ig TET (B) S@faHSid 78T //@
(C) T¥iea & (D) 9d BT T »@

A crop requires a total depth of 90 cm of
water for a base period of 110 days. Then

duty of water is -

T BEa & 110 & & 9uR e & fog
90 ¥t T B P TETE BN ATATTRAT B 8,
@ I @ S (duty) § -

(A) 918 Hec/Cumec (B) 1123 Hec/Cumec
(C) 1026 Hec/Cumec (B) 1056 Hec/Cumec

Garret's diagrams are based on -

(A) Khosla's theory (B) Lacey's theory
(C) Bligh's theory (@) Kennedy's theory
e amte feg av e & ?

(A) @raen & fagid  (B) o @ Regia
(C) afee &1 faai@ (D) < @ Ry

Clapeyron's theorem is also known as the
theory of -

(A)2 - Moments  (B) 1 - Moment

(C) None of these (B®) 3 - Moments
FUITA b g H e fegia & w9 F off e
EICIE

(A)2 - amet Regia (B) 1 - emgef Rygia
C) 9 § B & (D) 3 - et Rygia

PT.O. p




< T -
72 Whlch of th F . |
the corre © following eXpression represent | 76 A rigid-jointed Plane .frame % stale g .
. .Value of coefficient of curvature? statically determinate if — o 8
ﬁﬁ@lﬂmﬂﬁwmﬁw T HOT ¥ (3 Ms) o e |
%Hﬁqﬁﬁam%? s @ftre Frag grar @ afk -
(Dgo)? ! @) (m+r)=3j  B) (3m+r)=3;
(A) c,=—Ds0 ®) C,= (Dio) : —n; o
Dsox Dy ¢ DgoxDsp (©) (m+3r)=3j (D) (m+r)=2; | 8
() Ce= 0 ®) C,= (D30 )2 77 The value of Poisson's ratios of the materialg |‘|
60 % Dyg Dgo % Dy lie between — |
(A)0 and 1/2 (B) 0 and 1 ]
73 If the plasticity index of a soil mass is zero, (C)ﬁZ ;:nc} . & (H)L g 2 -1 \
then the type of soil is — i 9 ot g E
(A) Clay (B) Silt e e ¢ | é
(C) Clayey Silt (D) Sand (A) 0 3T 1/2 (B) 0 3t 1 g
Uﬁﬁ@%mwwwsﬁ%,a} (C)2 a3 (D)1 aft 2 |
gt &1 e ¥ - |
(A) et Rt (gftva) (B) T (Raee) 78 Tl};t linzmenc; gf i:;]erga %f at rectang_le of
C) ghrama wi and depth d, about an axis xx
©7 i @) 4R "~ passing through its centre of gravity and
. - . allel to the ends, is given as —
74 What is the degree of static indeterminacy P : ;
of the plane structure as shown in the figure g b it d T S - %
below 7 T TEE-HH | Dbt oA el o B ¥ .
4 fra® ™ R ¥ Ew @ B R T T g0 xx & omeur R - § -
sifafeaae o fedt @ 7 ) Ly =bd* 12 B) 1, =bd?f64
0
~0 oL @ © Ly=db* (32 (D) 1., =db /24
e 79 The relation between modulus of elasticity
e E, bulk modulus K, Poisson's ratio 1/m is :
..o8 AR W9iw (E), awb weiw (K), qiges
@) 4 (B) 5 I 1/m % dra wEy - s
©) 6 (D)3 (A)E = 2K (1-3/m) (B) K = 3E (1-2/m)
. (C)K = 2E (1-3/m) (B)E = 3K (1-2/m)
75 Bending moment at any section in a
:::)lltl:lgzzml:eam gives in the | gg Maxim@ deflection in a simply supported
: beam with a central point load is given by—
y p g y
(A) Curvature (B) Deflection we g Tt & w1 W onfirg s e
(C) Bending Moment (D) Slope faay BT
@WWﬁW‘ﬂ@EWWWQFi 3
arEtad & @l B ¥ | (A) WL /3EI ®) WL3/48EI
(A) =ghel (B) fag 3
(C) da et (D) ar © WC[SEL (@) swi3/34El
LN .
76G1 PTO. P
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= -
j1 Emulsion paint contain - .
(A) Zinc white (B) White lead
(@) Poly vinyl acetate (D) Nitro cotton
Emulsion TTeid & Wi5g T & -\
(A) e a%g (B) g%
(C) urett fommde teiee (D) A1gg @ied

32 Find the surface tension in soap bubble of
40 mm diameter when the inside pressure is
2.5 N/m? above atmospheric pressure.

40 frft = & WEA & gAY & US oA

(surface tension) §d ®U, W ARG I -

e

() 0.0125 N/m ;};g

agHEHd T ¥ 2.5 N/m? S0 ¥ |

(A)0.0064 N/m  (B) 0.860 N/m
(C) 1.265 N/m

83/ If the reduced level of a benchmark is
101.00 m. The back sight reading is 1.215 m

and the fore sight is 1.810 m, the reduced
level of the forward station is -

Fk d9Eh @ WA 9@ (reduced level)
101.00 #t % | wygTEwis" (back sight)
1.215 % of smmawite (fore sight) 1.810 #
¥, o W RIW & UG qd & —
(&) 100.405 m (B) 104.025 m
(C) 104.305 m (D) 99.605 m

84 Agonic line is the line joining points havi
declination - g/o‘ﬁ
(A) Minimum Declination
(B) Maximum Declination (D/P
(C) Same Declination \Yg/
(¥ Zero Declination
wifiE (Agonic) T1EH, U% WEA ¢ w1 fpua
Rrgaft = et ® -

(A)ged Rgua  (B) siftde fegam
(C) T fegpura (D) 9= fear

85 Two closed coil springs of stiffness s and 2s
are arranged in series in one case and in

2%

86 If the height of the hydraulic gradient line
abov.e the ﬂqor of thickness ¢ is 4 and the
specific gravity of the material of the floor

i1s G, the minimum thickness ¢ of the floor
down stream of the crest

the equation -

uﬁﬂz@r%maﬁ%mﬂﬁqmi‘ma‘ﬁ
‘Wréh%aﬂ'tmsi%wziwﬁfﬁmwG%,
at fr@r @ dEm (crest wall) & fra Hat |

wall, is given by

3 claaaﬁwm:wmmm_

- t—hH ’ l‘_h+1

(A) G+t )= G
|t

o sl - I_h—l

© G+t ®) G-t

87 The direction of the magnetic meridian is
established at each traverse station and the
direction of the line is determined with
reference to the magnetic meridian, this

method of traversing is known asv-{k —\o\
(A) Loose needle method

(B) Fast needle method \-8\°

(@) Bearing method v ‘L}T
(D) Fixed needle method /E

TEF ST RN T qeRE Ao ?n
T 1 ST & ST T &t fen gaeg angrat
& ded o fruifea @ ol ¥, 9w (traverse)
@ 79 fafy & v & w9 § 97 @ € -
(A) Bt g3 fat (B) ot & g3 fafy.
(C) fegmm fafu (D) fafyea g3 fafy

parallel in other case. The ratio of stiffness 88 Th.e m‘flteri?ll of a rubbf:r balloon hffS
of springs connected in series to parallel is- Poisson's ratio of 0.3, If uniform pressure is
~ s8R 2s g A @ ggE el A B Th applied to blow the balloon, the volumetric
b RAR ¥ sjgen o9 9 q@Y e § FHEQ B9 strain of the material will be -
- ¥ @ T ¥ | wEeh @ gl @l JE E U T AR & TEd & eEd g9 0.5 )
¥ ww w S afE AT B AN & {7 FHE T FET A
2 ¥ d verd @ araatie fagfy & (volumetric
(A) % ®) r strain) —
o ” (A) 0.20 (B) 0.25
© A (D) % (€) 0.50 (D) Zero / 3=
76G1 W < y & ™
fu et S
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,Q:,
RS
|,

L°%

S
8/©(A)381ﬂ.
90’

€ Moment is maximum.,
(D) Shear force changes sign.

T R g o g § ot -
(A) 37 st g aa:a?

(B) sreww aw arfiraay wvar &
(C) 57 syt srftraram 2 2
(D) sreuw a1 firg wzern &

90 According to Lacey's theory, the silt

Supporting eddies are generated from

(M) sides of channel only

(B) bottom as well as sides of channel

(C) none of these

(D) bottom of channel only

o & Rieid & oE e gemE WAt s

Bd ¥ - ;

(A) a9 I & fHmy

(B) o it w1y & e » Ry

(©) 59 § =g 7

(D) %ae o9 & o

91 Wetted perimeter of a regime channel for a

discharge 0£64 cumecs as per Lacey's theory

will be —

(@) 38 m (B) 57 m

(C) 76 m (D) 19 m

Sﬁ'{ff%ﬁ?@iﬁ%&jﬂﬁ%ﬁ?ﬁvﬂﬁﬂ%m

g T & o 9 oferg @ -

(B) 57 =,

(C) 76 4. (D) 19 .

92 The relation between duty D in hectares/
cumec, depth of water A in metres and base
period B in days is given by —
&ae/agie & 73 D, i @ e (A ) dex
¥ o oM orafy B (R %) % drg ey 3o

8.64B 5.68B
A= ——— A T ey
) A=— B Awe—
8.64D 1.98B
A& A=t tae
C) (D) =
76G1 12

oy

g is the correct ratio §

: lloW‘ln t i 2
935?1rhichf0f :}lfnfocorrectlon to curvaturey

g e

Ecprl‘ectlon -gu‘r{ '@’ CF T
- § g @ @ "‘“T' '

E,_.,'J % R’TU: -Ha a:[ﬂ'cﬂa % s

ey o

A g @7

O i |

- D =l

E e D) 7

99

] e

94nghat is the whole circle bearing of a

' Quadrant bearing' N15°28 W ?

. . L 1
oN15°28 W Tgafer feamar T’ng !%i‘”’f_
Y N\

)
*i“”(‘fa.) 164°32'

o

(B 344°32\

) ! .
(£0) 344°28 (D) 195°28

[

the magnetic meridian at the time of
Cobservations is known as —

E@k) Bearing angle g

C (?) Magnetic bearing
e
T Ay H G|

'FE@))Dip

RUSECT: T
AT BT S %
(A) Ream oy

(B) g R
(©) TP ey
(D) e (3rerTre)

c€€) Magnetic declination
A T & -

PTO. P




96 A symmetrical parabolic arch of span 19 m
and rise 4 m is hinged at the springings.
It supports a uniformly distributed load of
1.5 tonnes per meter run of the span.
The horizontal thrust in tonnes at each of
the springing is - :
I9ma§’rm(span)am4m%m(rise)mﬁ
FAfIG UXaEia 99 B S (springings) T
fear fear ST & 1 @€ wre (span) Fcts5 =
giodIer & §9F w0 ¥ fRala wr F %y
®TAT & | 9% IS (springing) § 2 éé%.nes)
4 &fds wuig (horizontal thrust) B‘FHC«:,
(4) 20.63 (B) 1692 WO

(C) 8.5 (D) Zero / s

97 Ifin a concrete mix the fineness modulus of
coarse aggregate is 7.6, the fineness modulus
of fine aggregate is 2.8 and the econmgmical
value of the fineness modulus of canfibined
aggregate is 6.4, then the proportion-of fine
aggregate is - ::3’

AR B dre few % R R B
qIGiE 7.6 ¥, gt fred o1 genar s 2.8 ¥
S fiftre el ot e i ot ot T

- \'
C 15— po X
99 In column analogy, the area of an analogous
column for a fixed beam of span 'L’ and
flexural rigidity 'EI’ is taken as -
HieH agedal Taf ¥, Rl L7 ol s
oM 'EI' % U% Mg 477 (fixed beam) ¥

2EI 3E]
L B
C) 725 (D) T

100 A fixed beam AB of span L is subjected to
a clockwise moment at a distance 'a' from
end A. Fixed end moment at end A will be-
fergfar L &1 u% oteg o AB us Y A @ '
T W o ot % eredi| 3, @ A Rt w
g B et (Fixed end moment) T —

M
©) 79

M M
(©) ;EZ-—(L~3a) (D) 1-2—([-*0)(1‘5—30)

101 A simply supported rectangular beam of span
'L" and depth 'd' carries a central load 'w'.
The ratio of maximum deflection to
maximum bending stress is -

0% 'L 912 (span) 3T 'd' e & G SNrEd

6.4 %, o g1 e @1 Srqu 2R — NS
(A) 33.33% ®)50% gt © STRTBIT T T 0 41 1T ‘W' 0 o 1
C) 66.67% D) 25% aiftreaw fagi (deflection) &1 arftreraw s
P b 0%‘:@ it & oruE ¥ -

o : 2 72

98 The field capacity of a soil is,  its (A) e B) yire]

permanent wilting point is 15% and gggciﬁc
dry unit weight is 1.5. If the depth of root © 2 D) 7

12Ed 6Ed

zone of a crop is 80 cm, then the storage

M .
(B) 57 (L-a) CM

L 2
i

B
21

fg o® ergEw @ (analogous column) &
A & w9 ¥ foran smar ¥ - /%
@) 5 (B) = % .

<

5 g0

capacity of the soil is = 102 If W is load on a circular slab of radius R,

(A) 10 cm B 12 cm (g the maximum radial moment at the centre
C) 14 ¢cm (D) 8 cm v of the slab is -
i gf R fown & us gam@i 8a W W I @

us Rrdt @ & & (field capacity) 95% &,
TeaT T i g 15% ¥ o fafde) g
3&1E WX (specific dry unit weight) 2: (3
aft wae & we S & Teg 80 & E W P
%) e &waT (storage capacity) Bk

(A) 10 4 (B) 12 &

(C) 14 ¥ (D) 8 &
76G1

T, A BT & dx W Afwan Bregew sl
T -

WR? 3WR>
(A) .rE (B) 2

WR? IWR?
©) .S 2) T

PTO. p

13m



displace
Mment
(A) Col

the following is not the
method ?

(B) M Umn analogy method
oment distribution method

©) Kani's meghoq
) Equﬂibrium method
¥ Y g @ Pren T E
(B) smfor fyereor frfs
(C) =1fy fafy
(D) Smaraean fifiy

104 The deformation of a spring produced by a
unit load is called -

(X) Flexibility (B) Unit strain ,

(C) None of these (D) Stiffness

T THE WX ¥ g R HEEl O SdEed

el deard ¥ - e
(B) T fampfer

A%
(A) w/E@® {
(D) =

(C) 4 & & &

105 Select the correct range of density index -
T Gahih B g GE 9T B -
(A)1D>O (B)O<1D<1

>

ek

(@) 0<1,<l (D) I =0

106 A soil is said to be well graded if coefficient
of curvature lies between

(@)1 and 3 (B) 3 and 5

(C)5 and 7 (D) Less than 1

u% Gal h ST G Bl S & AL bl
ol % 99 Ry gar &
(A)1 &t 3 (B) 3 aft 5

(C) 5 @it 7 D)1 & =¥

107 Inorganic soil with low compressibility is
presented by -
DH Fia"ililﬁlaal 'ﬂh ﬂmﬁ W a_ﬁ. ﬁﬁ:{ 'é'
wefifa fmar s ¥ -

(A) SL (B) ML
(C) CH (D) MH
7661 €

article size for Whigy

he M ; licable -

0. D) 0.2 mm-
(A) 3 1o (D) o
g€ -
mm;; (B) 0.5 Fir
Eg; ?; P (D) 0.2 sy

sion index of soil -

res ,
109 The comp with an increase in the liqyjq

(A) increases
limit.
(®) decrea
limit.
(C) none of these Y .
(D) decreascs with increase in liquid limjt
firdy 1 G ADD
(A)ﬁmaﬁ%mam% |
(B)wma@%mam% m

(C) 378 & BE T
(D)aa;ﬁmaﬁ%ﬁmﬂm%l

ces with an increase in plagtj

r

3

110 The minimum water content at which the |
/soil just begin to crumble when rolled info |
threads 3 mm in diameter is -
(4) Plastic limit
(B) Shrinkage limit
(C) Permeability limit
(D) Liquid limit
AT T B 98 HqIT fNE 1 7T 3 firdy @@
% T ¥ ewT U 72 W ¥ -
(A) gaza dmn
(B) Hegpem g
(C) aremgar g
(D) 79

111 HOW man » " ; iﬂ
y gri le have
AtoCAD 9 P points does a circ

AutoCAD #
WY

(A) 4

€)2

T g9 (circle) & fpa s 1

(B) 3
) 5

14 210 b




112 The initial setting 1
tt .
ing time of ordinary portland | 116 Which one of the following sights is taken

cemen
t should not be less than - on a "turning point" ?
(A) Foresight and intermediate sight

&1 e sTTe wy el
it (B) Foresight only

®H T E g 7
(A) 20 mj ‘ @) Foresight and backsight
(©) 25 mTHUtes (B) 30 minutes gD) Backsight only
minutes (D) 36 minutes (ol g T P A & A a1 o o 7
(A) STaed uq HeATaeDHA

113 The area of a slopj (B) %
ping surface of a protective '
: e Td ggaTaeie
et.nbankment of mean height d, side slope (C)W s
S:1 and length L js - (PRI 7E

:::Lﬁlﬁ d, §TEE T (side slope) S:1 3R 117 Agate cap 1s fitted with a -
S TeEY & TA el (A) Level R v
BT & - A€ @ (B) Chain . NI
(@) Prismatic compass 3

(R) 2Ld 1+ 52 : (D) Cross staff .

L we (Agate) % e & 1Y 9 W -

2 2 (A) wad (Level)

(C) yd"+(d5) (D) Ld1+S> WA (Chsic)

(©) friifed @@ (Prismatic compass)
114 In order to measure the magnetic bearing of (D) i @i (Cross staff)

a line, the theodolite should be provided | 113 Equipotential lines and stream lines are
intersect to each other at -

with-
(A) Spirit level (A) Obtuse angle (B) Right angle
(B) Extra telescope (C) 45° i i ( D), Acute angle
(C) Compass el Wﬁwmw—@aﬁw
o 1;?”? ot QP @, | AW ekmamw . B e
Th qawa feRa , (C) 45° @ (D) kL
frareemze (theodolite) ¥ gy e fehar S ¥
s - 119 Pressure inside a water droplet is given by
= ' relation -
(A) wroTEd (Raftz @a) U@ T @l §] & 3eT q9 (pressure) BT
(B) afafra E{{—éﬁq & e wmar
(C) fesrga® (A P ®) P=2
(D) @ @ A R 4 .
8o 160
(O — (D) P .o &

n of 12 mm plastering

ected out-tur
115 The exp i 120 The performance of a specific task in CPM

p rtar is -
with cement mo (B) 4.0 sqm is knov.«'n'as -
(A)2.5 sqm (9) 8.0 sqm (aé)) Sctlwty (B) Contract

C) 6.0 sq.m ' (C) Event (D) Dummy ,
f&i’lﬂ)"é14'45111""(cemcmmon.ar)%ﬁ‘:"‘!I 12 firf CPMﬂfQﬁﬁﬁmm%ﬁWaﬁWWﬁ

aﬁmﬁ&ﬁw&mm(outtum)?' ST ST § 7
W ot HeX (B) 4.0 i @ (A) TRifafy (Activity) (B) 3389 (Contract)
(A) 2.5 ] et S0 (D80 ot e (C) wRreut (Event) (D) ¥ (Dummy)
(C) 6.0
&) P.T.O. ’

15
- '



